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Chow test 2179
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import sys

Chow %€
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sys.path.append("statlib")

from xtest import Chow_test

Chow_test(datl, dat2, verbose=True)
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datl
dat2

verbose
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datl = [[1.2, 1.9, 0.9],
[1.6, 2.7, 1.3],
[3.5, 3.7, 2.0],
[4.0, 3.1, 1.8],
[5.6, 3.5, 2.2],
[5.7, 7.5, 3.5],




[6.7, 1.2, 1.9],
[7.5, 3.7, 2.71,
[8.5, 0.6, 2.17,
[9.7, 5.1, 3.6]]
dat2 = [[1.4, 1.3, 0.5],
[1.5, 2.3, 1.3],
[3.1, 3.2, 2.57,
[4.4, 3.6, 1.1],
[5.1, 3.1, 2.8],
[5.2, 7.3, 3.31,
[6.5, 1.5, 1.3],
[7.8, 3.2, 2.21,
[8.1, 0.1, 2.8],
[9.5, 5.6, 3.9]]

import sys
sys.path.append("statlib")
from xtest import Chow_test

a = Chow_test(datl, dat2)

Chow test for structural change
F = 0.071548, dfl =3, df2 = 14, p value = 0.97423




